—_

8 times table ()
Ox8=___ 3x8-= /x8 =
1x8=__ Nx8=__ Nx8=
2x8=__ Ox8=__ 3x8-=
3x8=_ /x8=_ 2x8-=
Ux8=__ 10x8=__ 8x8-=
5x8=_ 1x8=_ Ux8-=
6x8=_ Ux8=_ 6x8=__
7x8=__ 6x8=__ Ox8=__
8x8=__ 12x8=__ 12x8=__
9x8=_ 2x8=__ 9x8=__
10x8=__ 8x8=_ 1x8=__
Nx8=__ 9x8=__ 5x8=__
12x8=__ 5x8=__ 10x8=__
_ x8=80 _ x8=32 _ x8=9¢6
__ x8-=88 __ x8=Uu8 _ x8=32
_ x8=9¢6 _ x8=72 __ x8=0
_ x8=5¢6 __ x8=16 _ x8=80
_ x8=72 _ x8-=88 __ x8-=8
__ x8=16 _ x8=24 _ x8=72
_ x8=32 __ x8-=8 __ x8-=40
_ x8=2u4 __ x8=0 __ x8=Uu8
__ x8-=8 _ x8=5¢6 __ x8-=88
__ x8=Uu8 _ x8=u0 _ x8-=6l
_ x8-=6u __ x8=80 _ x8=24
_x8=U40 _ x8=9¢6 _ x8=56
__ x8=0 _ x8=06tu ___x8=16




e

8 times table (A)
0x8= o 3x8= o 7x8* g¢
1x8=_ @ Nx8= gg Nx8= gg
2x8+ |6 0x8= o 3x8= 214
3x8= 24 7x8: g6 2x8= 16
Ux8= g 10x8= o 8x8=_ ol
5x8= wo 1x8=_ @ Ux8= 29
6x8= L8 Ux8= =9 6x8= ug
7x8= g¢ 6x8= uo O0x8= o0
8x8° euw 12x8= 96 12x8= ¢
9x8= 99 2x8= 1o 9x8= 42
10x8= %0 8x8=_ 6y 1x8=_8
x8= gy 9x8= 92 5x8= uyo
12x8= 9qf 5x8= 40 10x8= g0
_10_x8=80 4y x8=32 12 x8=96
11 x8=88 6 x8=U8 e x8=32
]2 x8=96 9 x8:=72 0 x8=0
7 x8=56 2. x8=16 _J0_x8=80
aq x8=72 ]\ _x8=88 | _x8=8
2. x8:=16 3 x8=24 94 x8=72
4 x8=32 ] x8=8 5 x8=U0
_3 x8=24 _ 0 x8=0 _b x8-=u8
_y__x8=8 9 x8=56 _J|__x8=88
6 x8=Uu8 5 x8=U0 @ x8=6U
@ x8=64 10 x8=80 2 x8=2u
5  x8=U0 1 x8=96 =1 x8=56
_o0__x8=0 @ x8=64 2 x8:16




